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— 9912 INMT2 TIDN K 2D NN AN
»2aR said: ‘really you should not reverse; regarding "x»7, etc.’

OVERVIEW

The X3 cited a mwn and a ¥n»72 in which it appears that 7127 °"9 contradict
themselves whether we are 92137 j1°wn or not. »aX answered (that it is not
necessary to reverse their respective views in the Xn»92 so that it should not
contradict the mawn but rather) in the Xn>93, which discusses 712 7m0 which is
stricter, °"1 maintains 7721 71w, however the 71wn which discusses *Xn7 which
is more lenient, since 17 1"W¥n 7"y 21, therefore °"7 is not P> wwin. It is
apparent that »»2X maintains that the concept of 17 Pwyn 7"y 217 is sufficient reason
to be more lenient. Md01n will cite and explain why in other situations 2X does not
use the concept of 17 1wyn 7"Y 217 to explain the leniency.

Mmoo anticipates a difficulty:
— 1993 %93 XY ©19927 ZD90 (39 97 maw) "R MDA D93 AN MINT XD

And that which 2R explains in P97 22 pap (regarding °&n7) that a poo of

the 3129 does not require a 771293 -
— 311 19PN YIND DY 299 NN K29

X219 disagrees and says that since 377 1ww» 7''Y 219 there is no need for a 71372 -

mMooIn mentions an additional difficulty:
— PIVH VY XY DNI2T POD PIVIN IYY DAY INTI AN 2IWUN (3,1 1mpY) 29 DY 4N P93 199

And similarly in 2"px p95,* »ar answered, ‘the onon strengthened their ruling
if it was an unequivocal enactment;” however regarding a ‘doubtful’ enactment

(such as *&n7) they did not strengthen their ruling -
— 19PN NPT 9N Na9

' The x7»3 there is discussing why one does not make a 71972 when he is TWv» w™5» from *X»7 (as one makes a 77972
when he is w971 ‘regular’ N1IWYM NN, or on other 112771 @°21N).
2 o7 requires 112771 WY» NWI9T only because it is a 20 whether the 7"y was wyn or not. Therefore it does not
require a 71972. However a 71277 °R71 such as 1791 11 NP7 requires a 11272,
? The question is why did not »ax answer as X217 did that a 7272 is not required, since 17 TIwy» 7"Y 211 as »ax
maintains here. It seems from that X773 that »aX does not agree that 17 PIwyn 7"y 217 is sufficient reason to be
lenient, contrary to what he says here!
* The xma there stated (in reference to WX n21N2 which is 71277n) that the 0mon strengthened their rulings (even)
more than 770 rulings. The &3 challenged this from this 71w of 1T where "1 is not 1°2113% w>»n by X7 (even
though it is a 71277 like 712102).
> The obligation of 712102 is 712771 but it is a N°X7) 73PN, not based on a Poo.

1

TosfosInEnglish.com



»aR 7"7 '010 X, 72 M2 .7"02

Xa1 answered that the 0°non were lenient by 8%7 (and were not 7o wwn) ¢ since
1 Pwyn o'y .’

mooIn clarifies; the reason »aR there did not use the same answer as X211 -
— 1YY YN NN NNT NAYT ANY 7Y Y57 0IWnN NY

Is not because 2R disagrees with X2, for here »2X agrees with x27 that 7"y a1
inRial7

— 11 179N NIND 20Y 29T FPIINNM 9957 (3,75 nwa) RN Y1IIWAT T
And furthermore in the end of X%22:77 P75 the X1) infers from a Xn>=2 that 219

7 PwYn 1"y, so obviously »ax agrees to it -
= PN IYY R DN N3 %93 XY 299 XIDT 2) DY N D©N92T POD U7 »AND 19D NIINT NON

But rather »»aRk maintains that any 2;7°927 po° even though there is no 219
(unlike °%n7), nevertheless, it does not require a ;71992 and the idea of Pyn WY
does not apply to these cases.’

mooIn anticipates an additional difficulty:
— NIND Oy 2t Oy w199 102t YIRS KT RINAN (0w n 41 NAYT NP I3 1799

However in the first p22 of naw ndon regarding that Xn>72 which states that a 21
192 should not eat together with a 7'y 27 -

— D2PINN DINY D27 1IDIIN? NIV AN Y9N
»2R explained the reason for this caution is because we are concerned perhaps the

1"y will give the w119 to eat foods that are not tithed -
— X219 9RPT PIUN YIND Y 21N TR0 X9

® The same difficulty applies here; why did not »ax answer like X2 that 12°p7 *X»72 since 17 wyn 7"y 217 as »ax

states here why *"1 is not P27 w>n! This second question is somewhat stronger since in this same case >R states

here that >3 is not 1°7213% w>n since 17°p77 *X72; he should have repeated this answer there as well.

7 See *"wA there "xn71 "7

¥ The xn»2 states, one who buys figs from an 7"y (even) in a place where they are trodden upon to dry them, the

rule is that he may eat them as a snack (°%7 n7°5K) and eventually has to be Wwy» w97 as if it is *&n7, for since it is

possible that the 7"y was wyn w91 right away (before the trodding process began). This proves that 1 wy» 7"y 217,

? Had 2K answered as ¥21 did (which he could have), we may have had the mistaken impression that it is only by

*Xn7 (where there is a PIwYn 217) that a 71972 is not required and the 2121 did not make a 077*3272 P1°1; however by

an equal 07272 Poo (where there is no 217), one may assume (as presumably X271 maintains) that a 71372 is required

and P on Wy, therefore »ax clarifies that in all 27727 o0 (even if it is a ?1pw: o0 without a 217) there is no 71972 and

no o77°M27? ZRINIRI7R

19 A a1 is one of the @*Xnb on account of a Ax»I which exudes from his body in the form of a fluid discharge.

' A w1 (plural 2°w19) refers to the people who were very careful not to become Xnv, and were meticulous in their

observance of »n"in. This particular w119 happened to be Xnv as a 21, but nevertheless he should still refrain from

eating with a 11"y 21, even though there is no issue of 71X since the w119 is already Xnv.

'2 X2 said there that the reason they should not eat together JnXm *»*2 is because the w119 may become so friendly

with the 7"y that he will continue to eat by the 7"y even when he becomes 7170 and the 71"y will feed him then a°xnw 027
2
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And »2X did not depend on what X271 said there that this is of no concern since
YR 7"y a1, so probably whatever food the 71"y will give him will be 237101 —

mooin replies:
— NN 1999190 XD 141"1’)3!‘\)2 NNYI NONNYT 1D N0 DNN

There, >>2X maintained that regarding a ¥175 21, we are stricter and do not
depend on 211 -

mooIn finds a corollary that even though 17wy» 7"y 217 we do not always depend on it:
— 5995 N9) AYN NYNYM 533 (0w x,x0 pory PPN §HDA KT 19

And similarly, X219 in the end of P17 P79, regarding the 71w» which states that

a woman may lend her sifter, etc. -
— 195aY 5921 515 $90Y PIYY PAYNT MYIND 3IY 1IN TROMNY 133 N

[And X27] did not want to depend on the n°77 of P wwy» 7"y 317 regarding the

prohibition of assisting the hands of the transgressors (as »ax did) -
:9NNY 7T Payy 1Y AN

For X217 deemed it necessary to be strict regarding this issue of 72y »M2w 7 y»05,
similarly »2X thought it necessary to be strict regarding the w175 21 eating 2217107 Q1RWY 0°727.

SUMMARY
All agree that 17 7awyn 7"y 217 allows for a special leniency regarding Xn7;
however this leniency is not applicable in all cases.

THINKING IT OVER
Why is it that 2R did not apply 7 wyn 7"y 217 regarding the w175 27 (only) and X239
did not apply it only regarding 21 mwX n?Xwn; why did they not both agree not to
apply it to both cases?

" The question again is that why does not »ax agree with x27, that there is no concern of feeding the 227 w2
D°IPINM QIRY since Pwyn 7"y 210!
' This w1o accepted upon himself to be extremely careful, therefore it is appropriate to be stringent even when
there is a 211.
15 The mwn there states; 7Y J70N X M0 X2 228 M 2P 77201 7191 MY Wi 99 TR TR TwR Noxwn (see e there
T7°2YA DYWA 7702y MW T 2072 YP0? MOKW 191 Y™oR LInY nen X9 Man N'?); 77207 7191 PN OY NWR? NOXWR T2 WK
MY TR NIMY N7 The X na there asks why concerning n°v»2w she may not grind the flour together with the 7mwn
and regarding wyn she may grind together with the 7"y. 2R answered that concerning Ww¥» we are more lenient than
ny W since Wwyn 7"y 110, However X271 answered that the 711w is discussing an n"77 7"y who is not T on Wwyn.
1o Others amend this to X? (instead of X9).
"7 There is an *X»7 MO°X (even though PAwyn 7"y 21) therefore assisting them in preparing a dish of >Xn7 is
considered 7772y N2 7 PY0A.
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